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QUESTION 1

An administrator is unable to connect a vSphere Client to an ESXi 5.x host. Which option can be selected from the
direct console to restore connectivity without disrupting running virtual machines?

A. Restore the Standard Switch from the ESXi host.

B. Restart the Management Agents from the vSphere client.
C. Restart the Management Agents from the ESXi host

D. Disable the Management Network from the vSphere client.

Correct Answer: C

QUESTION 2

An administrator has recently upgraded their Update Manager infrastructure to vSphere 5.x. Several hosts and virtual
machines have not been upgraded yet. Which vSphere component when upgraded will have the least impact to the
existing environment?

A. Virtual Machine Hardware

B. ESX Hosts

C. VMFS datastores

D. VMware Tools

Correct Answer: D

QUESTION 3

Click the Exhibit button. What does the graph in the exhibit indicate?
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A. The average amount of read and write latency from the ESXi host to the SAN.

B. The average amount of read and write latency from the guest operating system to the virtual machine virtual disk file.
C. The average amount of read and write latency from the ESXi host to the datastore.

D. The average amount of read and write latency from the cluster to the datastore.

Correct Answer: C

QUESTION 4

What are two requirements for successful vMotion migration? (Choose two.)

A. CPUs with matching SpeedStep settings must exist on both the source and destination hosts.
B. Virtual machines must not utilize hardware local to the host such as SCSI pass-through.

C. Virtual machines must not have a CDROM connected via the vSphere client.

D. Dedicated Gigabit Ethernet Networking must exist between the source and destination hosts.

Correct Answer: BC

QUESTION 5
An administrator is configuring a vNetwork Standard Switch for load balancing. The physical network is configured for

switch-assisted load balancing using EtherChannel. Which load- balancing policy must be used to support this
configuration?
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A. Route based on source MAC hash

B. Route based on IP hash

C. Route based on the originating port ID
D. Route using Round-Robin

Correct Answer: B
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